Uklady réwnan

Zadanie 0.1. Rozwiaz uktady réwnan
{2x+@ =1
|l 3r+y = 0
Odpowiedz: —1/7,3/7.
r+y = 1

2.8 24+2y—32 = =3
2r+4y+z2z = 1

Odpowiedz: 2, —1, 1.
r+y+z = —1

3. x+ 2z = —6
3y + 2z = 0

Odpowiedz: 0,2, 3.
20 +3y+22 = 1

4. dr+4y+22z = 2
dr+2y+3z = 3

Odpowiedz: 8/7,—1/7,—3/7.

Tyt =1
5 20+ 2y +z+1t 0
] 3z +2y+32+2t = 3
6r +4y+32+2t = 2

Odpowiedz: 1,—-2,0, 2.



Uktady rownan

r—2y+3s+1t =
20 =3y +8s+2t =

6. ¢ *—2y+2+3s—-1 =
y+3s+ 5t =
T — 2y + 55+ 8t = —

Odpowiedz: 10, 3,0, —1,0.

—_ O R W

rT+2y+z+1 =7
7.8 20 —y—z+4t =
or+0y+224+7 = 1

Odpowiedz: sprzeczny.
rT+2y+3z+1t =
20 +4y — 2+ 2t

3r + 6y + 10z 4 3t
r+y+z+t =

Odpowiedz: x = -1 —t,y=1,2 = 0.

1
2
3
0

rT—y+z—25+1t = 0
9. ¢ Jx+4dy—z+s+3t = 1
T—8y+52+9s+t = -1
Odpowiedz: x:%—%z—ks—t,y:%—i—%z—s.
(3 21 =1 0
5 —1 1 2| —4
10- 7T 8 1 —=7| 6
1 -1 1 2| 4
Odpowiedz: sprzeczny.
(2 3 1 -2 —-1| 6
1 4 7 2 =5 1117
16 53 =2 -9 1
12 6 1 =5 —10|12

Odpowiedz: y =7/2+ s,z = —4 -2z — s,t = 1/2



Uktady rownan
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Odpowiedz: v = -1+ t,y=4—t,z=1—1

12.



